Q)

Frequency (%)

50 7

45 A

40

35 1

30 1

25 1

20

15 1

10 1

—— Within cluster
— Between clusters

85 86 87 83 89 90 91 92 93 94 95 96 97 98 99 100

60 1

50 1

40 1

30 1

20 1

10 1

Within cluster

T T
85 8 87 8 8 90 91 92 93 94 95 96 97 98 99 100

nucleotide identity (%)

C

90 1

80 1

70 1

60

50 1

40 1

30 1

20 1

10 1

85

86

87

88

89

90

Between clusters

91

92

93

= 5vs7
— 5Vs 6
= 5vs 4
= 10vs 7
= 10 vs 6
- 10 vs 4
- 5vs 10
- 7 Vs 6
— 7Vvs4
—— B VS 4

94

95

96

97

98 99 100



